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Chel: 23018 AlE &5 (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HEAZ0 =2 4,441,027 392,718 4,048,309
230z X=E 4,172,449 205,492 3,966,957
S3IIE AlE &= 1,348,000 0 1,348,000
Ol=2 =XU&E & XEz &4 1,348,000 0 1,348,000
401 Al HI L £ 0HHI 1,348,000 0 1,348,000
01 A& HI 1,348,000 0 1,348,000
OSEX0H (24)HI 1,341,000,000& 1,341,000
OEXNEAZHE =22 5,000,000& 5,000
O A& =20t 2,000,000& 2,000
Dlz=a 8A 29 1,260,298 205,492 1,054,806
DIE=F 220,309 205,492 14,817
201 LEt2 Y| 154,580 119,935 34,645
01 AFR2t2ldl 108,580 18,184 90,396
OOCIEAZS M &2 10,000,000& * 14 10,000
OO & HAXJH 1,000,000& * 40H 40,000
OXZEIH L CIXNEI=E 2,000,000& = 43| 8,000
OCIMESHEHI(==)
10,000& * 1,0008 * 2= 20,000
O=E2 2 M &H| 6,500
O&ALEAM 1,000& = 1,000% 1,000
O 1,500& = 3,000% 4,500
OXZAH 1,000& = 1,000% 1,000
OXZ 2 SSH|(BHY  BHE)
8,000,000& * 23| 16,000
O HY =2 77,000& * 40 3,080
oblz&X&Z0s 2,500,000 * 1€ x 28 5,000
02 332494l 10,000 31,251 N21,251
OXEBEHZ (23 & MAEHY)
2,000,000,000& = 0.3% 6,000
ORLTRS(ZHET T2US)
2,000,000& * 23] 4,000
03 HAFS S HI 36,000 70,500 A 34,500
O&AIZCIUIOIE 1,500,000& * 48 * 29 12,000
OFARHMAH(SH L HEHA)
5,000,000& * 13 5,000
O etal Xy 10,000 = 400 4,000
OGADICIHEH A YI 10,000, 000& 10,000
OFA AL AP2E 24| 5,000,000& 5,000
202 0db] 2,729 0 2,729
01 2LHHI 2,729 0 2,729
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el

X ZH
S =

FFANE0=2

Ol=2 MAl 29

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFNS® ZH0E(X0F & REES)
75,8003 * 298 « 3 « 63 2,729
301 g2 4= 43,000 32,158 10,842
09 HAAH 242 43,000 1,200 41,800
OUAH (HBLXES)
100,000& = 108 = 4 « 23| 8,000
O2IR¥A AUHIES4 70,0003 » 10%¥ 50 35,000
401 Al B2 28I 20,000 40,000 A20,000
04 S AL2tE Al & HI 20,000 0 20,000
OXAFZLHI(LEIE, XU, T4 &)
20,000,000& 20,000
FFAE0s2 H2d 1,039,989 0 1,039,989
201 LBt 764,660 0 764,660
01 At 22l 682,660 0 682,660
OOLEA S M= I 30,000,000& 30,000
O E-FSPNE-I] 2,500,000& = 6& » 48 60,000
OXMEHO L FIX A
20,000,000& * 208 400,000
O#HAIEY & CIXIEINSE 20,000,0008 * 13 20,000
OUMEHMHH(EST)
20,000& = 2,000% *» 338 120,000
OEESHAEH(=EE S) 2,000,000& * 14 2,000
OZZ 225 (g, BIE)
20,000,000& = 23l 40,000
O&tiols 128 29 7,000
OFHMLE (S22l 2A12F) 500,000& » 10 5,000
OZ A= M| 2,000,000& * 14 2,000
OM2I1E8=s2H &AM 2 bl
100,000& * 2404 2,400
ON&AIEE2d A&ZHMAH 12,0008 = 80 960
OZ22Hd &MM=E 100,000& * 3%H 300
02 =224l 32,000 0 32,000
OXEEEE 10,000,000,000& * 0.3% 30,000
OSHRI(ZHE 2L a)
2,000,000& = 13l 2,000
03 &AL E HI 50,000 0 50,000
Ouls® TES0I(828 S)
30,000,000& * 12l 30,000
O HAMEOYE 2,000,000& =« 103l 20,000
202 O4dl 2,729 0 2,729
01 = LH 4 Hi 2,729 0 2,729
OMANYR ZMAHHI(ZIH & HELQ)
75,8003 * 298 « 3 « 63 2,729




CEFANEOs2
P28 ds
COls2 A 29

- _ _ RE]

N X8-S (3H) - MEAY - B %Eﬁ HR=2
203 R F & 1,000 1,000
03 AIZH =X 2= X H| 1,000 1,000

Ollz=gs gR=&X 1,000, 000& 1,000
301 et A= 121,600 121,600
09 HAIAHI BEAZ 85,600 85,600
OZENWZEII AHI B4 250,000& * 80H 20,000
OCIHH (HELXE %)
100,000& = 12 *» 42 * 23| 9,600
ORHELA AH B4 70,000& = 10¥ * 80Y¥ 56,000
11 JIEtE A2 36,000 36,000
O&AAHOAHAY 3,000,000 * p6E = 2™ 36,000
401 Al HI L E0HHI 150,000 150,000
04 SHAF2HS Al & HI 150,000 150,000
OFAZZSH|(IEIE, XU, TM 5)
150,000, 000& 150,000
=2 28 147,060 147,060
Oz 2223 57,060 57,060
201 et Y| 57,060 57,060
01 AP 22| H| 57,060 57,060

Ol0ls& E2H| 37,060
O0ls& 8A Z104] 2,000,000 = 53| 10,000
O0tAHE 2ZE M ZEH| 5,000& * 4,00074 20,000
O 452 25 HZE 500& = 4,0000H 2,000
OCHY =&2H| 110,000& * 463 5,060
o922t EE= M ZEH| 20,000

OO0l=& OFLH = X}
2,500€ * 1,0008 » 2 * 4& 20,000

=2 3235 90,000 90,000
207 &R 2l 90,000 90,000
01 1R E | 90,000 90,000

OMI JH e 25,000,000 = 14 25,000
O=ZHOlX 2= 65,000,000 * 14! 65,000

2 s - Z2)H 29 50,350 50,350
oIt ol SUi0ls 2 & 11,220 11,220
201 et d| 11,220 11,220
01 AP 22| H| 6,820 6,820

O HUWEEH| 77,000& * 20& 1,540
O=E=2 2 M &l 2,280
Ousotlel=a 1,500& = 1,000% 1,500
OZAH 1,000& = 5008 500
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2AM: EFAE0 =2
dH: 20s s
cel ANQEN 1S D2 29 (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
@)=E=4 70,000& * 404 280
olls=&X&ns 1,000,000& = 33 3,000
03 S AtZ L I 4,400 0 4,400
OZZJHIILANE 350,000& * 83l 2,800
OHANSH X Y| 200,000& =* 83l 1,600
Oz ME Z27H 5,170 0 5,170
201 LEt2 Y| 5,170 0 5,170
01 At 22l Yl 1,570 0 1,570
O=2 2N &l 1,570
Onsotyel =g 1,500& = 1,000% 1,500
Og x5 70,000& = 1JH 70
03 HALS H I 3,600 0 3,600
OZZJHIILANE 230,000& = 103 2,300
oOZz ¥ LAME 80,000& = 103 800
OME M=HI 50,000& = 103 500
A 2y 33,960 0 33,960
201 et A | 3,960 0 3,960
01 AFR22t2l Yl 3,960 0 3,960
O=U HII24HE2 252 2,160
Oflsx 22 12,000& ~ 68 * 12& 864
Ozesos=2 12,0008 * 4% 128 576
OllsH&AASOR 12,0008 *~ 48 » 12& 576
OLEH A& 12,0008 * 2& * 68 144
0=2 JI|tdH=E 5=
300,000& = 2& « 14 600
OXga A2 F 100,000& * 12& 1,200
405 XH&HF SHI 30,000 0 30,000
02 & A7 bl 30,000 0 30,000
Ol0lsd& TN PLUHI(FHEEE)
100,000& = 300 30,000
sl 29 102,848 0 102,848
eSS0l MA 29 54,248 0 54,248
101 @1 21| 16,448 0 16,448
04 JIZtH2ZXNEE S 16,448 0 16,448
OB APA 16,448
Ool2t] 55,770& = 1Y = 262 * 102 14,501
(@F=FSE=l 4] 200,000& = 1H = 23| 400
o4HEg =2 1,547
-=01H3 14,501,000& * 4.5% 653
-H2AEE 14,501,000 * 3.035% 441




S EFAE0z=2
M. 2ols ME
o9l HES0ER 2 CER-ED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
A YT E 441,000€ * 6.55% 29
-N288 14,501,000& * 1.5% 218
-MTHE S 14,501,000& * 1.42% 206
201 et | 37,800 0 37,800
03 S AFS H 37,800 0 37,800
o0l JI&2& A 2% 37,800
O& Al &l 2,000,000& =* 43| 8,000
OCIM=Z HMEH 2,500,000& = 43| 10,000
O=2=H &b 5,200
-&AIE AN 500 * 5008 * 43| 1,000
-2/ Eg 1,500 * 5008 * 43| 3,000
- AH 1,000€ * 3008 = 43| 1,200
OXSAIE A Y HE 400,000 * 43| 1,600
O =8 L AIEX HH 250,000& * 43| 1,000
O&EXLI2EH(BHY, BIHE)
,000,000& * 43| 12,000
W¥s0lsa2r T2 29 48,600 0 48,600
201 et A | 48,600 0 48,600
03 AL H I 48,600 0 48,600
Ol 18AIA ZZ2ME 2HH| 29,100
O1™ Al Z2HME XsHY|
2,000,000& * 63 12,000
OXSAIN A Y HEY 400,000 * 63| 2,400
OMZ H &I 4,000 * 3008 * 63 7,200
O=2=H &b 6,000
-&AIE M 500& * 5008 * 63l 1,500
-2/ Eg 1,500 * 5008 * 63 4,500
O =8 L AIEX HH 250,000& * 63 1,500
O=zHEZZHE 2HH| 2,500,000& = 33| 7,500
onsTz ) 24| 1,000,000& = 43| 4,000
OX2UZR TRHNME 29|
4,000,000& * 13 4,000
Ol Sslss Tz ) 29|
2,000,000& * 23] 4,000
sz AE0L 89 180,060 0 180,060
T2y 2y 17,110 0 17,110
201 Bt A H| 17,110 0 17,110
01 AtR 22l bl 10,000 0 10,000
Ollz=&2ASL EB2 10,000
O X+ 4,000& * 1,000% 4,000
OclZE3 (4&+&0l) 1,500& = 1,000 1,500




HEAY0lED
=stoles &8
Ol=3AARF0R 29 (&)
SN HH-S(BN) - MBAY - B il HlnE2
Os&sEs ¢&8 = 500& = 1,0000H 500
OXSAME 29 2,000,000& =« 24! 4,000
02 3323l 2,400 2,400
OXzd HYS 1,000& * 1008 » 243| 2,400
03 A2 Z Hl 4,710 4,710
ORJHZ20tE E= T2)) 4,710
OdMEEE H 4,710
=Y 1,000& * 5008 500
- 70,000& = 304 210
-EE20Y 23 AREH| 2,000,000& 2,000
L ALE 200,000& = 109H 2,000
A=&IF K& 18,750 18,750
201 Yet2 | 14,550 14,550
03 A2 Z Hl 14,550 14,550
OY=#It B=H3 14,550
OdMEE 1,400
-8 ZAH MEH 2,000& » 5008 1,000
-9 80,000& * 504 400
OH3As 13,150
EVNE=RS NS 2,450,000& = 14 2,450
-2 A2 (012+
300,000& » 249H 7,200
—SHAHEI S| 500,000& = 23l 1,000
-AE2d 92y 2,500,000& = 13l 2,500
206 M= Hl 4,200 4,200
01 W24l 4,200 4,200
OXAA Ho 2A™HI(HAESL 108)
1,200,000 = 23l 2,400
OJISXHE U HME(25) 900,000& = 24 1,800
Al - AL 2 132,400 132,400
201 Let249] 131,000 131,000
03 A2 E HI 131,000 131,000
OASC02 JIEHEA 12,000
OXZHE & &y 1,000,000& =* 22| 2,000
OzEALI25HI( , B E)
2,000,000& = 23| 4,000
Os&22 MH 3,000,000& = 23| 6,000
OY=ZDL dglol 38,400
OdAzEeEY 650,000& * 243| 15,600
O8=% 2 AMEX HA  150,000& = 244 3,600
OXZHEASH 800,000& =« 243| 19,200




2N H=AE 2
dH: 20s s
S9l: DEFRASOL 29 (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OLLEAELL(YF==I SEEHAS) 29,100
O&EE N 15,000& = 1,000 15,000
(OFSPNRSES 2,000,000& * 13 2,000
ASAE EE Y HE 400,000 * 243] 9,600
[@X=3=1s]! 2,500
-EUHE 1,000& + 5000H 500
=Rl 1,000,000& = 1JH 1,000
-0l=&8X 210 1,000,000& = 13 1,000
O0s&EHEAKL 10F=E JIE &AL 51,500
OJgd &8 Mz 20,000& = 1,000 20,000
o998 M 16,000& = 1,000 16,000
O™ A& Y| 10,000,000& * 13 10,000
O& S 28| 2,000,000& = 23| 4,000
O8x=8 L AIEX HZE 1,500,000& * 13 1,500
301 dEtE A= 1,400 0 1,400
09 HALAHI EA = 1,400 0 1,400
OMALA 2 KR SAA =Sl
7,000& * 109" * 203 1,400
HES®ZA 43 11,800 0 11,800
201 Bt A | 11,800 0 11,800
03 SHALS H I 11,800 0 11,800
O=Z2MNpEs T2y 29 11,800
OnSHAINE &F HEHI
10,000& =* 5005 5,000
OS<dl(HAYIELE) 800,000& * 13 800
O&EHLI25HI(EHY, BtE)
3,000,000& * 13 3,000
O™ A& Y| 3,000,000& * 13 3,000
QEMAIZ 2Y 58,400 0 58,400
LETAIZ HAl 2H 58,400 0 58,400
201 et A | 35,300 0 35,300
01 AFR2 22l dl 18,300 0 18,300
Oz JEXM2H 18,300
OXSZEILUCXEI=E 1,000,000& * 23| 2,000
OZEH & HI| 5,000& * 5008 * 2& 5,000
O=2 =M &bl 3,000
~&AIE M 5008 * 5008 * 23] 500
EE 1,500& * 5008 * 23] 1,500
-LAH 1,000& * 5008 * 23] 1,000
Osl =8 & ANEX HE 150,000& * 23] 300
O&ANHAS 1,000,000& = 23| 2,000
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L= B

el

- _ _ RE]
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
OXE AL 2SH| (Y, BtF)
,000,000& * 23| 6,000
=222 4| 3,000 3,000
OXEEE= 1,000,000,000& * 0.3% 3,000
SHAIS S H| 14,000 14,000
OFANBHHAH2H L ZTHHA)
1,000,000 = 23] 2,000
OJfet Al Ry 10,000 = 100¥ = 33| 3,000
OgAa 0ICIo &HIHA I 3,000,000 = 23| 6,000
ONAIHAF 22 E 2H| 1,000,000& = 33| 3,000
ot A= 19,100 19,100
SHAIAIHI B2 A 2 19,100 19,100
OZE 2D AlYl 24 250,000& * 10 * 23] 5,000
OQAHH(EELXE L)
100,000 * 3Y * 22 % 63| 3,600
OS2I AHEH
0,000& ~ 1 = 252 x & 10,500
A& HI L 20| 4,000 4,000
SHAFZ2EE Al & HI 4,000 4,000
OXANZZAHH|(IIEIE, XM, &M 5)
2,000,000 = 23| 4,000
= g a2 555,800 555,800
= &9 500,000 500,000
405 XHo&HF S HI 500,000 500,000
01 AL 2 FF S H| 500,000 500,000
(OE P F= 21 H| 100,000,000& * 5& 500,000
E Bz 55,800 55,800
et AH| 55,800 55,800
AP 22| | 30,800 30,800
O 22234 300,000 = 6& 1,800
OXEZHZ(AE E) 2,500,000& = 23| 5,000
OAHEE MNIEH 50,000& * 30& x 43 6,000
© 2 XFAI & 300,000& = 30& 9,000
O0=3NESZLERS 300,000 = 30& 9,000
02 2324 25,000 25,000
OALAHE B8 2 10,000,000,000& * 0.25% 25,000
=2 A2 469,633 469,633
A& S22 469,633 469,633
Bt AH| 134,174 134,174
01 AR 22l ] 97,221 97,221




fAH: EFAE0=2
M 2oos ds
& D=2 sX2e
SA - ZE-B(EA) - NRAY - B S il &t o il
OJIZ2AREFHI 6,600
Obls& 2& 200,000& = 123 2,400
OUEs0=2 150,000& * 12& 1,800
Ollsd&AFLL 150,000& » 12& 1,800
OLEE A2 100,000& * 6& 600
0OARY EZFLH(MYIISF, SFHEX S) 8,040
Olbl=2 22 300,000& = 12& 3,600
OUds0=& 160,000 * 123 1,920
OllsddAFOR 160,000& * 12& 1,920
OLEN A2 100,000& * 63 600
OlEZRE= 1,800
Oblsa 2& 15,000& * 58 » 12& 900
OUESO== 15,000& = 38 » 123 540
Ob0l=&#&xAF02 15,0008 * 28 ~ 128 360
OB+ (AHAUE) HE
70,0003 = 424 « 128 3,360
O2ts & olAy| 1,000,000& * 13l 1,000
ogxtz 6,276
O&3=JldEgzg 3,276
-0l 22 (2T, A24)
36,0003 = 2CH » 12& 864
-0l 22 (82 L JAFE)
36,0004 = 304 » 7& 756
- S0l 36,000 = 1CH » 123 432
0= AFC0L 36,0008 » 204 « 128 864
-QE M Al Z 36,000& = 104 = 103 360
otlnag= 25,000& = 10CH = 12& 3,000
OO0l &2 EA3J8 &AX(4HSB)
6,150,000& * 14 6,150
CgRUHEr== 40,615
ORoZHAAH 24 7,164
Oz =22 297,000& = 123 3,564
-HES0l=2 150,000& * 12& 1,800
N3 AF0L 150,000& » 12& 1,800
O&EJItd2eUd 824 14,411
Oz =2 1,027,900& » 128 12,335
-HES0l=2 80,700& » 12& 969
038 AF0O2 92,2003 = 12& 1,107
OAgotd Ze|iHd 29 7,200
Ol =2 240,000 = 12& 2,880
-HES0l=& 160,000& » 12& 1,920
Ol=a8aAF02 200,000& =12& 2,400




fAH: EFAE0=2
M 2oos ds
¢hel: Ol=2 |A2e (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OsZJItd2Ae e 84
230,000& = 404 = 123 11,040
Os&Jl EIZA 200,000& =« 4CH 800
OASAE U QUEXE KA
30,000 = 10& * 4004 1,200
OAE2HE Y CHPEXH HE(2E2)
30,000&  10& 300
OFAM BT Y ST 2
35,000& * 5008 = 40 7,000
O=2Y3 A (22, HEs, &)
800,000& * 3044 2,400
o2 M2(EHASLR)
1,700,000 * 13| 1,700
OXAICHY AU EXT FH(HEs, &)
1,000,000& * 13 * 2JHA 2,000
OS+U =ZAA(UES)
300,000 = 13 = 104 300
Ox2Zd FAZHI(UHES)
2,500,000& * 23] = 1JHA 5,000
O&ARL T2 £ 3,000,000& * 14 3,000
O33J12 Aot e X 2l
160,000& * 3H 480
02 =24l 36,953 0 36,953
CH=EESRNESE 15,753
Oblsa 22 1,222& * 4,586m 5,605
OUEs0=2 2,968& « 1,411m’ 4,188
Ollsd&AF02 2,280 « 2,346m 5,349
OLEEA 2 1,222@& * 500m 611
OXIIANE FAZ2d(UHES, )
300,000& * 2JH 4 + 12& 7,200
OAgdH SAA(HES, =)
2,000,000& * 200 £ 4,000
O==x, HEAd 22 (UHES, )
2,000,000& * 30H £ 6,000
OFAA KX 2 1,000,000 * 40 A 4,000
307 21201 A 127,604 0 127,604
05 RIZt2IEt = 127,604 0 127,604
O&Ax E9dl 91,875
Oblsa 2& 2,552,050& » 2% » 12& 61,250
OllsdHAFLR
2,552,050& * 18 » 123 30,625
OEAR, UHOIAT SAN EY
2,552,050 » 29 = 7€ 35,729
401 Al B2 2B 90,000 0 90,000
01 A& HI 90,000 0 90,000
Ol0lsa 2t AX] 21,000




fAH: EFAE0=2
M 2oos ds
el Ols2 sAzel (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OCAHE W= 3,000,000& * 43 12,000
OdH=E =R 3,000,000& = 3K 9,000
ol =34 26,000
oxd ¢ &334 3,000,000& = 23| 6,000
O&C0 2 Al 2t 5,000,000& = 43| 20,000
OISOl 2AY =T A
3,000,000& = 13l 3,000
OU&=EAASELL OIAVAIE E=
2,000,008 * 14! 2,000
ODIZRIASUR AFFIIA P4
1,000,000& * 154 15,000
O0l=a DI AX  3,000,000& * 14 3,000
Oll=z 32 sgxts &
20,000,000& = 14 20,000
405 XH&bE S HI 117,855 0 117,855
01 AL EFH S 117,855 0 117,855
QAR 12| 34,900
OLE=SZdRH 1,500,000& * 1CH 1,500
OFFH(QEH) 1,400,000& * 10CH 1,400
OOIIs= A 5,500,000& * 2CH 11,000
OHItlEZZ HH 3,500,000& = 6CH 21,000
(CFSPINIE= 14,740
OosE T (L394) 500,000& = 104 500
Oz (£L394l) 140,000& = 164 2,240
OLHEl & (2 & A ) 250,000& = 24 500
OoZEHz AISE(92H) 500,000& = 44 2,000
OANREX(UHES) 300,000& = 504 1,500
OXMX(UES 15 X2 4) 500,000& * 5IH 2,500
OMRE HAM(QEXAR) 200,000& * 2JH4 400
O0lsSA NEH(QEXAZ)
200,000& = 204 400
OARE SXH(LEXAIZ) 300,000& * 204 600
OMI(LEHEAR) 250,000 = 44 1,000
OBAME TOIAETH(2LEAAZ)
300,000& = 404 1,200
OMAISE TOIAATH(2EEAIZ)
100,000 * 8 800
OAtCHEl (2 & X Al &) 100,000 * 204 200
OZXE 2 B (LEXAIR)
70,0003 = 2CH 140
OXZHEHE L S (LEFAIR)
80,000& * 27K 160
OZHEXNE HIAMUI(LEHAIZ)
600,000& = 14 600
O Ho AL 16,900




AN EFAME0=2
g 20z &8
Hel: D=2 RA2el
SH - BAEA) - MRAY - BES Of &t o il
OS&Hol= 250,000 = 200 * 45 2,000
Oos&4alt 300,000& » 8 * 45 9,600
OO0k2| 8l x| 450,000& * 8K 3,600
ool XA 350,000 * 2K 700
OR2xt 200,000& * 504 1,000
OTA K& EHI 50,315
O1dsothet 5,000,000 = 1CH 5,000
O3Jtollet d= 850,000& * 1M 850
Ogd&Eg otola 400,000& * 10K 400
Ootoicta 2t 1,200,000 = 1JH 1,200
OgddAE TV 3,000,000 = 5CH 15,000
OgZHANAH(BRH L&)
8,965,000& = 14| 8,965
OH(HAR) 300,000& * 2CH 600
O&olA ELEHA 3,100,000& » 1CH 3,100
OZElI 28t 1,500,000 = 2CH 3,000
Oz (ZEESY H§)
,500,000& ~ 1CH 2,500
OLREXNHS 150,000& * 504 7,500
OH”EXHE SEA 110,000& * 204 2,200
CE==pJ 1,000,000  1CH 1,000
HYSAAU(BEAY0IZD) 268,578
Jl=3bl 181,337
Jl=3&Hl 181,337
201 fEr2E | 165,377
01 AtR 2t 2l | 12,288
QJll=gdesd 2538 (IE3H])
6,000,000& 6,000
ozgH (OIE24l) 6,048,000& 6,048
ol =4l 240
O&3d 1=l 120,000& * 22| = 1¥ 240
02 3324t 163,089
0332 % MA 153,089
OsEsE 2301 8,106
-0z =22 1,930& = 1008 = 153 2,895
-tHEs0l=2 1,930 = 508 * 243 2,316
0= HAFOL2 1,930 » 508 * 2438 2,316
-QF A2 1,930 = 508 * 63 579
(OFSPI= 93,600
=2 =2 3,500,000& » 12& 42,000
-HEs0l=2 1,800,000& » 12& 21,600
=88 AK02 2,500,000& = 12& 30,000
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N BFANE0=2

Ha: UYL YAH(FEANY0S

sl

)

& 123l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Otaz 34,950
-E¥s0l=2 750,000& = 53 3,750
-Ol=a8aAF02 2,600,000 * 12& 31,200
O& .otz 12,000
Oz =2 500,000& = 12& 6,000
-HES0l=& 250,000& * 123l 3,000
-Ol=a8aAF02 250,000& * 123l 3,000
OQHY 3¢ MER(22, HES, )
38,000& = 13l& * 30K * 128 1,368
Osd)| HidSss dutds Ass(2a2,
HEs1, &) 10,0003 = 43l & = 128 480
Oools TV (22, HEs, 23
15,0003 = 33l & = 128 540
OWMXIItHzE HASH(HES0I=)
2,000 = BAIZt * 40 = 2CH 1,280
OagotdgsH (22, HEs, &)
55,000& = 18] = 30H A 165
OFMIIHEEIH (22, HEsS, &)
100,000& * 138 = 30H A 300
Ollz2 & 222 3b(HEs0l=2)
300,000& = 13l 300
202 O4dl 12,960 15,120 22,160
01 = LH 4 Hi 12,960 15,120 N2,160
OJIEZ 12,960, 000& 12,960
203 YR =2l 3,000 4,200 A1,200
04 FN2IELSZTH 3,000 4,200 A1,200
O©J| & (15210138t) 250,000& = 123 3,000
ol 2d | 87,241 37,858 49,383
oI 244l 87,241 37,858 49,383
101 @124l 87,241 37,858 49,383
02 JIEtE B =+ 17,280 4,763 12,517
OANZLA2R (S HTA)
8,000% * 30AI2F = 6H * 123 17,280
03 RIAHAAZZRHE > 37,067 33,095 3,972
OUEsOl=a A8 (ED) 37,067
=3 1,846,700 * 1€ * 123 22,161
O=&tl 130,000& = 18 = 128 1,560
On st 130,000& » 198 = 12& 1,560
OJHAIX & bl 115,000& = 1H = 123 1,380
O2&+¢(34 014
1,846,700 » 10% * 122 2,217
OZENMe3 150,480& * 12& 1,806
OnsEse 40,000& * 1 + 128 480




2N BEAY0ISH
o WHSAPH(FFAY0IED)

ool oleE N (el:de)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFEFOtHI 1,846,700 *» 60% * 23| 2,217
OAzZtels=g
8,8008 * 15AI2F » 194 » 12 1,584
Ofg2Rsg
8,800& * 150% * 1 » 12¢ 159
OAR=< 70,7403 * 1H » 20 1,415
OAMz=E 0IXE &=F
8,800& = 10AIZt  1H « 63 528
04 JIZHHZ2XREES 32,894 0 32,894
OEXSHAHFA 32,894
oozl 55,7703 * 2% « 26 ~ 103 29,001
OZFEFItHI 200,000 = 29¥ « 23] 800
C42E= 3,003
=23 29,001,000& * 4.5% 1,306
-HAEE 29,001,000& * 3.035% 881
B3I RLEE 881,000& = 6.55% 58
-NESE 29,001,000& = 1.5% 436
-MHEE 29,001,000& *1.42% 412




